20602 20 O0T6019

11.

B IR DI GERIAT 9 MHR a1 R @b
991d¢ U4 ST &I qofd &Y | s9d SUANT
B ford |

Derive an expression for fault current for double-

line ground fault by symmetrical component method.

8
Hdqfaa (Reifgaa) swiHc fafyr | fgams
¥ 9 Wiec @ AT Bice arT fA@Te ?8g
e T |

OR (312141)

Write notes on :
(1) Buchholz Relay
(i1) Lightening Arrestor

54 R fewoft fored |
(i) §Peiea R
(i) ergefT YRR

L
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2019(Odd) Old Syllabus
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P.S. 11

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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9.
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Describe the construction, principle of operation (ii)
and application of an
(1) Induction disc and
(i1) Induction cup type relay.

8

(i) (gmsaa=) 9T foea
(i) (STsda-T) U &Y YdR & R B §-I49C,
SR a1 STA &1 |afaa avfq
B |
(ii1)

OR(3721dT)

Three impedance of (5-j10)Q, (6+5) Q and (3+)5)Q2
are connected in star to red, yellow and blue lines

of a 3300V, 3-¢ ,3 wire supply. The phase sequence
is RYB. Calculate the line current 1R.

(iii)
& gfeErEr (5-j10)Q, (6+5) Q a@AT (3+5)Q

R A ST ©, HAT: drdd, diar a1 far

T3 | &1 g 3300V, 3-¢, 9 AR 2 |

Sl AgHA RYB 2 | g+ ORI IR &I 91

T |

3 20602

gRT B A & & forg Su=hr s+

qral Ruaex ¥ &= @Ry |

(a1) srfere ufeRie aem &9 gsadia
Ruacer

@) &u ufeRig qm e ssadia
Ruadw

(3) &9 ufaig dom $49 Ruac

(2) it ufoRig qon ifsre Ruadwr

A power system network with a capacity of
200 MVA has a source impedance of 20% at
a point. The fault level at that point is.

(a) 10 MVA

(b) 20 MVA

(c) 200 MVA

(d) 1000 MVA

200 MVA &9dl & U& efad dF dcdd
&1 ATERT 3RASH 20% & fag a& 2|
39 fag R wiee &1 A |

(1) 10 MVA

(@) 20 MVA

(") 200 MVA

() 1000 MVA

P.T.O
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GROUP -C

Answer all Five Questions.

I ufg g & SR ¢ |

7.

8§x5=40

Explain the phenomenon of arc in a circuit breaker.
A fuse wire of circular cross-section has a diameter
of 3.2 mm and fuse 16 amp. Calculate the diameter

of wire that will fuse at 4 amp.
8

Ueh URue fa=83d § e & gcT dI =T
P | U ISR IqIRI—PIC d TS dR Bl
AT 32 mm & 16 amp AAT U Terdl 2 |

S AR @ AT B TET B o 4 amp WR
el Sy |

OR(3721d)

The plant capacity of a 3-¢ generating station
consists of two 10000 KVA alternator of reactance
10% and one 5000 KVA alternator of reactance 15%.
The alternators are connected to the bus-bar and
loads are connected through three 5000 KVA, 5%
step-up transformers. Determine the maximum fault
MVA at

(1) Low voltage side

(i1) High voltage side

0T6019

(vi)

(vi)

(vii)

(vii)

5 20602

The transient voltage that appears across the
contacts at the instant of arc extinction is

(a) Flash over
(b) Restriking
(c) Recovery
(d) Breaking

¢ifSiie dieew o e g3 & a9
IHHl WR SuRerd gidTl 8, deddl &
................. qlee |

(31) woler aMaR

(@) Regrsfo

(|) Read

(%) afepw

Rated making capacity of breaker is equal to.
(a) V2 x rated symmetrical capacity

(b) 2.55 rated symmetrical breaking capacity
(c) equal to rated symmetrical capacity

(d) None of these

gRuer fae8ed &1 TS AfeT guar
Bidl 2 |

@) V2 x fraifRa REfgsa afeT awar
() 2.55 fREiRa REfgea afeT awar
(@) faiRa Reifcea aaar @ s
() 37 4 »ig &

P.T.O
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OR(3721dT) (ix)

Explain in brief the importance of protective relay
in power system.

ofad @ 9 YremHs Rol & A8 &1 9ay
A quiq &Y |

Give the differences between a fuse and a circuit

breaker.
4

WS a1 uRue fae8ed | <X W I |
x)
OR (372rd1)

What do you understand by percentage reactance ?
Give the importance of base KVA in short circuit
calculations.

yfrera Ruadw @ amu «ar wosd @ ? ag— ()
gfRuer Y ToET ¥ MR KVA &1 T H8cd & 2

Explain the operation of differential relay.
4

femf~aae Ra & o1 gorrelt &1 9vfq & |

7 20602

A 93 @ o MR s &I

<gad fear Sirar 2

- (Base KV)2
Base KVA

Base KV
Base KVA

(Base KVA)
@) ————
Base KV
(Base KVA)2
Base KV

x 1000

2

x 1000

(<)

Which of th following gas has been used as
insulating medium in electric appliances?
(a) Nitrogen

(b) CO,

(c) SF,

(d) Freon

s 9 39 W A9 faegda Suyaven @
s gelfeT qregy &1 ave Suglfl gidar 87
SINISEER

(@) BrdT-—sI3-3AiTTS

(W) SF,

(?) =
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(xix)

(xix)

(xx)

(xx)
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Earth fault relays are

(a) Directional relays

(b) Non-directional relays
(¢) Short operate time relays
(d) None of these

aref picex Ra 2:

(@) o faem A (srRaErEd) Ra

(@) fa=r feem § (FA—srReEEd) Ra
(\) og & wHa Rat

(?) 37 9 @3

The rating of a circuit breakers is usually
determined on the basis of.

(a) Line to line fault current

(b) Symmetrical fault current

(c) Single line to ground fault current

(d) Double line to ground fault current

felt uRuer faegea &1 fET a&ga:
fpa® AR W b fear sirar 872
(31) <139 ¥ ATST Biee RT

(@) gafia (REfeda) wice arRT

(W) Tod @139 9 ¥ Wiee ©RI

(]) fg @3 € 9 Wice °RI

0T6019

(xiii)

(xiii)

(xiv)

(xiv)

9 20602

In a balanced 3-¢ system, negative and zero
phase sequence currents are

(a) Equal

(b) Different

(c) Zero

(d) None of these

ue Hqferd 3-¢ ugfd 4, RomcdA® U4
I Horm Rrad¥ faga arid gidY 2
(31) Svrea}

(@) 3rerr

(|) I3

(€) s 9 >Ig &l

Positive sequence reactance of a transformer
is:

(a) Equal to the negative sequence reactance
(b) Larger than negative sequence reactance

(c) Smaller than negative sequence reactance
(d) None of these

TP gRUIFE & g9 ® 3P
(Raad~r) @1 wforema giar 2 |

(31) FoTId IHA Ufaemd & IEx
(@) FoITcHd I gfremd | aTaT
(|) o d 3gHA ufaemd 4 o4
(?) 379 @ ®Ig 7
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